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15
16 [=SUM(N3:N14) =SUM(03:014)
P qQ R
14 [=VLOOKUP (J14, $A$3:$F$6, 6, 0)*L14 “M14+N14+014-P14 |=1F (OR(L14>=10, Q14>=27000), "#~, ")
15
16 [=SUM(P3:P14) =SUM(Q3:Q14)
HARAKSI
W X Y
12| =B84 FEAREL & B 3 4
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3 |LEEFpHEs [=DSUM ($A$2: $K$18, U2, $T$8:$T$9) =DSUM ($A$2: $K$18, V$2, $T$8:$T$9) =DSUM ($A$2: $K$18, W§2, $T$8:$T$9)

4 | H U [=DSUM($A$2:$K$18, U2, $U$S:$US9) =DSUM ($A$2: $K$18, V$2, $U$S: $US9) =DSUM ($A$2: $K$18, W$2, $U$S:$U$9)

5 |dEk%E [=DSUM($A$2: $K$18, U2, $V$8:$V$9) =DSUM ($A$2: $K$18, V$2, $V$S: §V$§9) =DSUM ($A$2: $K$18, W§2, $V$8:$V§9)
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8| 11/17 11 130[ 2,873 373,490 31 22. 59 3, 230 102X X 12 329] 8.3%| 3,020 993,580
9 [ 11/17 12 281] 2,591 728,071 102X X 22 113[ 8.3%| 2,830[ 319, 790]
0] 11,17 21 142] 1,722]  244,524] <AEAEHT—T 1> 102X__IX 31 312] 8. 0% 2,970] 926, 640
1y 22 125] 2,417] 302, 125] [REH [ AEME 103y v 11 163[ 7. 1% 3,400] 554, 200]
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13] 11,24 11 209] 2,904] 606,936 11/17]  111.64 103y v 21 347 7.1%[ 2, 030] 704,410
4] 11,24 12 156] 2,618] 408, 408 11/24]  112.83 103y v 22 104 7.5%] 2,860[ 297, 440]
5] 11,24 21 134] 1,740 233,160 1042 |7 12 128 6. 7%| 3.070[ 392, 960
6] 11/24 22 270] 2, 442[ 659, 340) 1042 |z 21 131] 6.2%] 2,050[ 268, 550
17] 11/24 31 193] 2,548] 491, 764 1042 |7 22 383] 6. 7%[ 2,880] 1,103, 040
18 104727 31 109] 6. 2%] 3,030[ 330, 270
9 & FF 3, 005 7, 250, 600) [100,%]
20 & 3,005 8, 586, 220 [100,%:_'\]
21
Y ] 7 | AA AB AC | AD [ AE AH A6 | AH ]
1] T e LA R A
2 |ECO] mma | Tim |mri] 7wra | e [HE] <spkE#> sk Lty
3 i A —M | 1, 454, 205 506] 1,721,750 267,545 PHCO| ZykE | 800 350, 000
4 12]fEisA— L | 1,781,095 689] 2,095,480 314,385 10pHdn A 700 300,000
5 21[pEm B —M | 1,035,612 604] 1,231,260 195, 648 20|7E5 B i
6 22|fEen B — L | 1,450,59 600] 1,720,270] 269,675 30 C 600 250,000
7 31[pHdh C —M | 1,529, 093 606] 1,817, 460 288, 367 500 200,000
8 400 ’
9 & aF [ 7.250.600] _3.005] 8,586, 220] 1, 335620 [70,‘?{] 300 150, 000
10
9 100, 000
|@mCcO] @mco | @mco [@mcol mco 200
12 11] 12| 21] 22| 31] 100 50, 000
m .
FdmA—M BEHA—L fEMB—M BEHB—L pEimc—M
[2 II\\]
N = . =72 /4= ANE 74—
( = ) BArk1 ADRFBEDITERITDIT
B C D E
17143793 |31 193 =ROUNDDOWN (VLOOKUP (B17, $G$4: $1$8, 2, 0) #*VLOOKUP (A17, $G$12: $H$14, 2, 0), 0) =D17*C17
18
9] & EF =SUM(C3:C17) =SUM(E3:E17)
2 = — =% 4= ANE 4=
HARH 2 ADRFBEDITERITDIT
L M N 0
18 [1047  [=RIGHT (K18, 1) 131 109 =HLOOKUP (L18, $U$4 : $W$6, MOD (M18, 10) +1, 0)
19
20 & =SUM(N3:N18)
P qQ
18 [=ROUND (VLOOKUP (M18, $G$4: $188, 3, 0)*(1-018), —1) =P18*N18
19
20 =SUM(Q3:Q18)
,
HARK 3
Y 7
2 [pECc O P dn
3 i1 =VLOOKUP (Y3, $AG$4 : $AHS$6, 2, 1) &~ — “&VLOOKUP (MOD (Y3, 10), $S$5: §W§6, 2, 0)
4 |12 =VLOOKUP (Y4, $AG$4: $AHS6, 2, 1) &~ — “&VLOOKUP (MOD (Y4, 10), $S$5: $W$6, 2, 0)
5 |21 =VLOOKUP (Y5, $AG$4: $AHS$6, 2, D& — &VLOOKUP (MOD (Y5, 10), $5$5:$W$6, 2, 0)
6 |22 =VLOOKUP (Y6, $AG$4: $AH$6, 2, )& — &VLOOKUP (MOD (Y6, 10), $5$5: $W$6, 2, 0)
7 131 =VLOOKUP (Y7, $AG$4 : $AHS$6, 2, 1) & — “&VLOOKUP (MOD (Y7, 10), $S$5: $W§6, 2, 0)
8
9 & @t
AA AB AC
2 fEAZE ¢ B3 5¢ FAH
3 |=DSUM ($A$2:$ES17, AAS2, $Y$11:§VY$12) =DSUM ($K$2:$Q$18, AB$2, $Y$11:§V$12) =DSUM ($K$2:$Q$18, AC$2, $Y$11:§V$12)
4 |=DSUM($A$2:$E$17, AA$2, $7811:$7812) =DSUM ($K$2:$Q$18, AB$2, $7$11:§7$12) =DSUM ($K$2:$Q$18, AC$2, $7$11:§7$12)
5 |=DSUM($A$2:$ES17, AAS2, SAAS11: $AAS12) =DSUM ($K$2:$Q$18, AB$2, $AAS11: $AA$12) =DSUM ($K$2:$Q$18, AC$2, $AAS11: $AA$12)
6 |=DSUM ($A$2:$E$17, AA$2, $AB$11:$AB§12) =DSUM ($K$2:$Q$18, AB$2, $AB$11: $AB$12) =DSUM ($K$2:$Q$18, AC$2, $AB$11: $AB$12)
7 |=DSUM ($A$2:$ES17, AAS2, SACS11:$AC$12) =DSUM ($K$2:$Q$18, AB$2, SACS11: $AC$12) =DSUM ($K$2:$Q$18, AC$2, $ACS11: $AC$12)
8
9 [=SUM(AA3:AAT) =SUM (AB3:AB7) =SUM(AC3:ACT)
AD AE
2 FllAEEE HRE
3 [=AC3-AA3 =1F (AND (AB3>=AVERAGE ($AB$3: $AB$7) , AD3>=AVERAGE ($AD$3: $ADST)), "7, )
4 |=AC4—AA4 =1F (AND (AB4>=AVERAGE ($AB$3 : $AB$7), AD4>=AVERAGE ($AD$3: $ADST)), "> ", ””)
5 |=AC5—-AA5 =1F (AND (AB5>=AVERAGE ($AB$3: $AB$7) , AD5>=AVERAGE ($AD$3: $AD$7)), ~ > 7, ”)
6 _|=AC6-AA6 =1F (AND (AB6>=AVERAGE ($AB$3: $AB$7), AD6>=AVERAGE ($AD$3: $AD$S7)), ~ %, ~ /)
7 _[=ACT-AAT =1F (AND (AB7>=AVERAGE ($AB$3 $AB$7), AD7>=AVERAGE ($AD$3:$AD$7)), ~ %, ~ /)
8
9 [=SUM(AD3:ADT)




